PreCalculus
WS: 4.5 - 4.6 Review

In 1 -3, choose the best answer.
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{AYy =-3sindx

(B) y=3cos4x
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Which one of the equations below matches the graph?
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2. Which one of the equations below matches the graph?

(A y=-2cos3x
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@y:—Zsin3x

D)y= ——2sin%x

3. Which one of the equations matches the graph?

(D)y=cscx+1
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In 4 - 5, match the given function to its graph.
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7. Write the equation of a sine function that has the given charactenstics. s
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In 9 - 14, sketch the graph of each function. Identify
first, and be sure to include two full periods.

any and all transformations of the parent graph

9) y= -3siuexJ

10) y= 200{x—-%)+2
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13.) y =—4tan(x+g—)
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